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What is the minimum age for eligibility to
1. vote in India ?

YoC3eadh  WRITBNRYY DI HoBW
ANDBBIDS BF I0HR),

(A) 21 years
21 BRENLD

(B) 20 years
20 IRENLD
(C) 18 years
18 IRBENLD
(D) 19 years
19 IRENKD
2. In Metric system 1 H.P. is equals to
DB ITY 1 (BF. D)
VDV I ?
(A) 746 watts
746 TYET
(B) 735.5 watts
735.5 D3,

(C) 1000 watts
1000 83,
(D) 746 k watts
746 3e3pe DL

3. An optical fibre is a transparent rod usually
made of .

0B F,0° IODS @e0TBES  F0DIW
o3y evoN aiyocs ToN,AOT
S030RTH33 ?

(A) clear plastic
S0
(B) glass
nos®
(C) copper
BowO°
(D) silica
NeLr)

4. The United Nations Organization (UNO) has
its headquarters in city.

AZJoFad (UNO) B0 sededadn 85 3¥NS
0oz INTBOT 2
(A) Washington D.C.

Dodon X B

(B) Geneva
B39

(C) Berne
ARV S

(D) New York
SR 0drez’e

5. The 200 kVA Transformer is operating on 440

V, 0.85 power factor, then the rating of
Transformer in "kKW" is

440 V, 085 ®DIC° FYBT' Y BUI
ABeHLDHADHS 200 Bl  IOIBEIT
md)cﬁésdﬁg( 3edne méaa‘ SO 23O

(A) 2.2 kW
2.2 3y

(B) 170 kW
170 a5

(C) 88,000 kW
88,000 Sayey

(D) 235.29 kW
235.29 a3y

6. Which of the following is a term used in

Cricket ?
8 FIINIT od T FBe3F esascseg

WTPTODIT ?
(A) Bull's eye
(AVID -
(B) Fine leg
G ey

(C) Love
O

(D) Ace
MASTER



10. The

ORF
. What is the maximum number of steps in one
flight ?

Ddend  wod TOIY  NO

el eurih adHsS

(A) 18

(B) 15

(C) 20

(D) 12

. Who is the Chairman of the Lok Sabha ?
S8 3YNISTO

1R e8I Z0NDHTIT 2

(A) The Speaker
3 Qes0°

(B) The President

—_— )
ODC“Q“

oD

(C) The Prime Minister
B 08,

(D) The Home Minister
@03,

. The portion where we place our foot while
ascending and descending is called

d)&?&e»m}ég( ATt DR @PBwTNR
mdm}mo( QARSI mrﬁéé QO
38dn3es

(A) Riser
OB

(B) Tread
Y DN

(C) Nosing
Swerbaand

(D) Blocks
3

algebraic  difference between the
maximum limit to the basic size is called

B vef YT I FFyTY N0y D3 DA

DL 9F3INE ISP

(A) Lower deviation
3E, Bedodear’

(B) Upper deviation
noa, Bedodear’

(C) Actual deviation
38,00 Bedodemnn®

(D) Mean deviation
e Bedodhern®

11. A JFET consists of
BT 0P OBDYHD

(A) Source, Drain and gate.
JRIFE, c@éa‘ D) riees

(B) Anode, Cathode and gate.
eI T, &6cﬁfaea‘ DI riees

(C) Base, Emitter and Collector.
23e, DL DA 3IBZO

(D) B1, B2 and Emitter.
D1, D2 DA QDE3T*

12. The maximum temperature of class
insulations is

INE Q TOBINRD édmm%uwmd e93e

e, eUEE 0TT

(A) 180 °C
(B) 120 °C
(C) 105 °C
(D) 90 °C

13. For speed control of D.C. motors, the field

control method gives the speed

63 JW s 0o T Heer Soedeees

A3R0T et A0D0E,ATT ArDas &en 2

(A) Above the rated
oIS, Serid, 03 Ted),

(B) Below the rated
DO, Serid, 03 BB

(C) Remains same

MASTER
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reY)ie WBETOTEH QW

(D) Becomes zero
B @erHIT
14. Ammeter is always connected in
odroeritne et B BIE, W
MIAPI

(A) Parallel to supply
I,1t Ive03TeveN

(B) Series with load
edeedd i dedex® esi

(C) Across to load
et it 95y3° &N

(D) Series—parallel connected
Qeder’ &y BIL* 3N

15. For riveting a round head rivet hammer used
is

339500 BJod B3 S ddedor’ i adved
IR, eV0eeNDSIT ?
(A) Cross peen hammer
S9° DR AN
(B) Sledge hammer
e 3t
(C) Ball peen hammer
Wt dex DN
(D) Claw hammer
S AN
16. Working principle of micro meter is
$0,;B0)2cDee30° SoaheFENS (SoadheS3))
(A) Sliding system
B0t I I*
(B) Bolt and Nut system
dpeef D) I3 dJIF
(C) Cam system
S’ dF®

(D) Rack and pinion
73 5 DIB) dAODHR®

17. Which is not the property of a coolant ?
039 THEFRE BP0 IOLZHDY) ?

(A) High cooling capacity between tool and
work.

3D (BuR) DB e NY DI Ty
B3RO B3

(B) Clear visibility between tool and work.
3D (BOR) DA L3 NY IS BOTN
BT

(C) Effective to skin and work.
JE DR) BOITB, SpoBTaA LT

(D) Increase the life of tool.
€3 3 déo_pc BDHIHD
18. Lubrication is done in the machine to reduce
abo33 o—;’dasﬁobd& 33%#»@53 @d@( 3BD
DVIRD DWVB

(A) The friction of sliding parts or Mating
parts, @0 DBINNY 35,3

(B) The raising temperature between tool &
work, S DB) e MY IBDS LV, ReE

(OVFTIOR) B I

(C) The free movement of the sliding parts. ¢
Sweey* eDHoes e85 B J;Bor’ Teed £

(D) None of these
QYN rehTe e
19. The median of the data : 26, 31, 33, 37, 43,
38,42 is
8 B@903 26, 31, 33, 37, 43, 38, 42 N¥

579,08 (DeBR)

(A) 37
(B) 26
(C) 43
(D) 35

20. A temporary pier made in the river bed is
called

SOod  MIFBY  Toze,O3meN Tl
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ﬁe&moddaﬁg(

(A) Pillar
B0

QoD 3BaWTIT.

(B) Parapet wall
Borieed

(C) Caisson
AT DI

(D) Cribs
Bty
21. The L.C.M of a’b+ab’and a’+a’bis
ath+abl DD 571 5% VWINY VT

—

(A) a’b(a+b)
(B) a’b*(a+b)
(C) a’b(a—b)
(D) ab (a + b)

22. The circuit used to get a purer DC output
from a rectifier is known as

Ba5,000° dod BODF BI Ber* JesF
aBobey HVBdReNDE JERFLF I BOD

(A) converter
B3 0°

(B) commutator
BRe3e30°

(C) inverter
Q3,36 0°

(D) ripple filter
0z o d0.0°
23. Simplified value of (1—sin*A) (1+tan A)is
(1—sin *A) (1+tan A) RGT JIOY 23S
(A)1
(B) -1
(C)2
(D)0
24. Bay window projecting in buildingis .

Je  3e3d &gdd reedaosd o]
3B R0BDET

(A) Inward
wYNA3

(B) Outward
®RINT

(C) Backward
boyen

(D) Proportional
TDBE),

25. The teeth of hacksaw blade are bent
nonsa z:im&sd Swmri%b NI D

(A) Towards right
(AISIAlalgl

(B) Towards left
NerAlall

(C) Alternatively towards right and left
V0T DR dBVIR

(D) May be bent in any direction
0o TRTR 83,3 LI

26. A tower stands vertically on the ground from
a point on the ground, which is 50 m away
from the foot of the tower, the angle of
elevation to the top of the tower is 30° , then
the height of the tower is

50 m BROD0EB ©0oWmN oSS 20T
Q0PI MDAITOR BVOEIT VI I
BpedF) 30° B8BT &8 0BT 933

(A) 50 m

(B) .3
E m
(€)50 .3m
(D) 50
B

27. The choke of fluorescent lamp is an example
of

RRTT0e3* DeTTODS 23ped® rod ST
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edped it VEIBTH ?

(A) Resistive load
B’ deer®

(B) Capacitive load
BH3 edeedd

(C) Inductive load
QOB edeeE

(D) Electrical load
ad% B e

28. Name the only Kannadiga to have become the
Prime Minister of India

B YRS aing 33BN I, Te33 BHor
oG areNgd ?

(A) Deve Gowda H.D
TeF. 8. Bedererd

(B) S.M. Krishna
OFF. 0. BR

(C) Ramakrishna Hegde
o3y R BT

(D) B.D. Jatti
2. 8. 23

29. The ratio of ON-time of a pulse to the OFF—
time of the pulse is known as :

s ,3F S, DA 6T 4T I, I
ORDTISTY doth Z8ew@0

(A) PRF
S, 30°. OFF,

(B) Duty cycle
= IORXEIC D)
(C) Time cycle
e3 20 T 80°
(D) ON cycle
B8R T ,80°

30. Which one is not an A.C. motor starter ?
S8 89?1&5@#9@” ARYID D Jeee3Tt

mdes?o‘ R ?

(A) D.O.L. Starter
8, &, aef, T9FT*

(B) Star—delta starter

T9.0° - B9, T9,63¢0°
(C) Rotor resistance starter

Teee30’ BAR XY, T9360°
(D) Three point starter

&)t — TodDOEF T E360°

31. Value of 7B is
7P, ad e3¢
(A) 35
(B) 840
(C) 630
(D) 210
32. A bridge rectifier consists of
WOl JeD DYeBTEY @), BodeedF
Y TRoOLIT ?

(A) one diode
200 BdadeesE

(B) two diodes
QTR BodeerE

(C) three diodes
e Bodeer®

(D) four diodes
Joe, Bodees

33. The most populous state of India is :
038 w3z wIJo; (BI0e0T3)

0D, BRODT TIVETIHTD ?

(A) Andhra Pradesh
€305 B, 3e3

(B) Uttar Pradesh
V33 B3e3

(C) Bihar
fAL:ple}

(D) Madhya Pradesh
DT F3eB
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34. The ratio of diameter of driver and driven
pulley is called
AT DD SHNDS oaa;"dojj mﬁd

IDTI3BR)

(A) Module
Srar)e*

(B) Pitch circle diameter
e JBEL DY

(C) Ratio of tension
TSV I,

(D) Velocity ratio
33 T3
35. In Construction of R.C.C. Roof slab, the
proportion is .
3o, Q. . T Spay abe(

ORDTISTY ADETTINHIT

(A)1:2:6
(B)1:2:4
(C)1:4:8
(D)1:2:8
36. Nobel Prize is not given in the field of

8  3YTeeddT el BedB,  eeefert
AL EIN] dﬁg( A’)edmrb@&om )

(A) Physics

WP3Te,

(B) Medicine
LR3 Bes,

(C) Economics
eﬂcﬁfmg

(D) Mathematics
Ned3zax

37. Sound travels the fastest in )
cgjfi’) Ay 8 3YNS o3 mcjéd)deg @3503

SeneeN BOD3E 2

(A) Gas
[SINLS)

(B) Solid
FITD

(C) Liquid
33

(D) Vacuum
A3 B)e3

38. The time period of an Astable Multivibrator
output is given by the expression

OB DOD,e30° Ve e I e °
00T Bod HbBAWS T3, ,

(A)T=RC
(B) T=0.707 RC
(C) T=0.69RC
(D) T=1.38RC
39. All electrical measuring instruments measures

only
QUY IWTF WIBBRWVTDS S eRDYHTD

Bede)

(A) RMS values

e30° Q0 QR° Dy

(B) Peak values

9,
et DRSOV

(C) Average values
3Tees 9,

(D) Maximum values
mas‘??u o DRV

40. What is the use of seasoning of timber ?
DTS, B3 eI B00d evsdeenzed

?

(A) Decrease the volume and weight of the
timber
DTT 0y DI BT 3BD

AVPIE{S)

(B) Decrease the strength of timber
TT ToRFFSY BB Srere

(C) Decrease the hardness of timber
T3 red oI, 3B Syerdew
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(D) Decrease the stiffness of timber
ST SBIY, BB B

41. To remove more material the file used is
o3 6(35&59}( £a5% De30odher* 3riaden

eVR03eeNVBIT ?

(A) Smooth file
D B3

(B) Second cut file
AT B30DS B3

(C) Dead smooth file
BRI D o3

(D) Bastard file
20e) T

42. One bag of cement consist of
20T dDoEF 23T

(A) 10 kgs
10 3210
(B) 100 kgs
100 321K

(C) 50 kgs
50 BBNK

(D) 45 kgs
45 BANRR

208 QDI

43. The property of a material due to which it
breaks with little a permanent distortion is
called

20D BRI
DoHYD DR
ABTNDDTRY, bericy a0

ROGDEDOT, B
98, 3cRBR0T

(A) Brittleness
DOYoN 20BVIHD

(B) Malleability
S

(C) Ductility
308 aFoherrhd

(D) Plasticity

DDAS
44, 18 : 4 : 1 high speed steel contains
18 : 4 @ 1 & AT deef B DTS
BRODDIT

(A) Vanadium 4%, Chromium 18%, Tungsten
1%
SABADIE 4%, BRELDODIF 18%, €30n®
I 1%

(B) Vanadium 1%, Chromium 4%, Tungsten
18%
SABDIF 1%, BedadDF 4%, €3or'
I, 18%

(C) Vanadium 18%, Chromium 1%, Tungsten
4%
SABADDF 18%, BRLDADIF 19, €30rF
S 4%

(D) Vanadium 1%, Chromium 18%, Tungsten
4%
SABADIF 1%, BRLDADIF 18%, €30®
S 4%

45. Which of the following is the national game
of India ?

QYNYO 39033 oao’%)eob 3ed areYwD ?

(A) Kabaddi
8&)@

(B) Cricket
3B

(C) Hockey
Tod

(D) Football
REF WS

46. 2's complement of 11100111 is
11100111 S 2's 300 0e3*

(A) 11100110
(B) 00011001
(C) 00011000
(D) 00011010
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47. Claw Hammer is used to remove the )
59 mzsaimo‘ @( (Do D3ri) oimg(
deden euzadeeNDTIT

(A) Nails
S0¥

(B) Screw

39
</

(C) Nut
XY

%}

(D) Bolt
AT

48. Normalising of steel is done to
DS A0NF B8TF e TBDFYTD
(A) Refine the grain structure.
TS0, 2230
(B) Remove the strains caused by cold working.
de3BZEDOT  eV0EIIT K’géa‘ )
BRI (BRI PLID)

(C) Remove the dislocations caused in the
internal structure due to hot working.

AFOIDT EVOEINT wY¥3IIab
TIRBEI SrTAVIYTD
(D) All of these
QYN Do
49. Wood Turning Lathe used to
DT DI Bedodnad oD,

eVRA3eeNWBIT

(A) Turning the wood
DT DA Fedaben

(B) Moulding the wood
DTDRY, P B

(C) Square the wood
STTRY, 235 Syere

(D) Ripping
d)dddg( emcgemdoamﬁ afaoi)zsw

50. Which of the following is called the "Pink

City of India" ?
8 BYNS oz’ SNOP) ° Po0B38B e
SAd” Sowd @) d5weNT 2
(A) Udaipur
VB oHR)T
(B) Raipur
0oL R0
(C) Jaipur
&,2)3
(D) Manipur
3T
51. Annulary rings helps to Count the age.
TOAES WY (eﬁai/aée)é Oort) alw
ST, I3, B ITeoh DI

(A) Tree
AV eIA

(B) Table
0eBS3

(C) Chair
BO°S

(D) Leaf
Qdab

52. A couple closed roof can be used the span
upto metres.

208 W00 mdsfsobﬁg( QeE30*
©903TTITAe HVB03RENTVIT)

(A) 2.5
(B) 4.5
(C) 6.5
(D) 8.5

53. Which among the following is the lightest
gas?

8 3YNT aea VDY) V308 BrHTZIBW)
2

(A) Hydrogen
® ;B3R
(B) Oxygen
MASTER



33 X
(C) Nitrogen
SyedeeR

(D) Carbon dioxide
SoED T €83 ;T

54, The Members of the Lok Sabha are elected
for a period of

e3pedTe SCﬁsasoaﬁ 303 WOoBIT IDA3W
QRDIT

(A) 6 years
3 IRENR

(B) 4 years
ToL, IRENL

(C) 5 years
OB IJENR

(D) 10 years
B3R JRBENK
55. Suppose A and B together can do a job in 12
days, while B alone can finish it in 30 days,

then time taken to finish the same job by A
alone is

A D) B @)D 00T 8oﬁdd& 12 BINYY
SB9T,B 2:2)Je B 3&%3&& 30 OINYD
ITBVODM,A -+ )T 8 BUISIY,
DPEFRRITLD SRDBRYT 93O

(A) 21 days
21 AI]IND

(B) 42 days
42 AINKD

(C) 20 days
20 DI

(D) 18 days
18 AINL

56. Mortise gauge is used to mark lines

parallel to face.
o0 €3, riees (T MDD e riees )

10

aig( 3D JNB V9N 203T5eN
3033601) J°

VR 3eeNRDBIT

Ry o@D @REw

(A) Two
QTD

(B) One
20T

(C) Four

RIS

(D) Three
D

57. The full form of SMT
A A 33 &@3 ae

(A) Surface Mount Technology
VO° Je® 2063 aimo( (1)

(B) Solder Mount Technology
TIQT® 203 3B

(C) Surface Method Technology
RO° Be3F DFT eIz 0B

(D) Surface Mould Technology
RO° e’ TP ez B
58. The electrical safety demands a
AR DHTZS W OF, VBZIT ?
(A) Good connection
wod I

(B) Good earthing
w0 wRFont

(C) Good cleaning
wod dedon’

(D) Good fixing
wab H3on'

59. The popular food item "PIZZA" originated in
the country

SRS B 3T
e300T 208G ?

(A) Spain

SHedye oS

MASTER



d—a e
(B) Italy
Qe3&)

(C) Portugal
@pebENS®

(D) France
DY,

60. When the shaft is not aligned in a axis, then
the bearing used is

Do, D egledrt IhdeslriedTen 0o
Jedort eum0deeNSIT ?

(A) Deep groove ball bearing
Bea® M weesk 3edort

(B) Thrust bearing
B, 3edor®

(C) Roller bearing
dret® Wedort

(D) Self aligning bearing
S efydon' e3edorf
61. The sides of a right angled triangle containing

the right angle are 5 cm and 12 cm, then the
hypotenuse is

WOmD LOWERES SRHRTO  VOWBRLITIY
PLOENTTIRDS RN 5 ¢m DD 12 cm
QBT IBEE BV

(A) 13cm

(B) 17 cm

(C)7cm

(D) 169 cm

62. Name the highest award for bravery in India
03T AP S TOALE B0

(A) Ashok Chakra
ZRRES 23,

(B) Mahavir Chakra
DTET 3B,

(C) Vir Chakra

11

Aed w3,

(D) Param Vir Chakra
BTD eT 233,
63. Product of (/6 ++2 Jand (/6 ++2)is
(f6+2)2@ (/f6+2)R¥ rbeer)
(A)g-4 .3
(B)8
€)g+4 .3
(D) 12 .3

64. The number of flip—flops required to
construct Mod-10 counter is :

IRTF-10 @o&sdaﬁ& 3000 WeSNDD

T - P* N éoaj’zs

(A) 2 o8
(B) 4 Soen,
(C) 3 Bwedh
(D) 5 2w

65. LED TV receivers are )
QAR BVRVBTIES ODeRT MR

(A) LED screen with no need of backlighting .
0T VT DR c%g ex®

(B) LCD screen
backlighting.
PedpT oL’ ey’ &0FET 2 B &@ea‘

with  fluorescent tube

(C) LCD screen with LED backlighting.
Q' RB HoWPIT 0O B &@eac

(D) LED screen with LED backlighting.
QB HoVHII verFRl (%gea‘

66. In the tail stock offset method if D = 30, d =
20 and length is 300 mm, then the offset
should be

e3;0° T9T° e85° JeF IFBO D =30, d = 20
D) evgd 300 mm S8NJT, ©TT 8z Jes®
AQDBT ?
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(A) 25 mm
(B) 10 mm
(C) 12°
(D) 5 mm
67. Ring gauge is used to check
QDY VYITSTY, AT VY3 FyeBew
VR 3eeNRDBIT ?

(A) Hole
3D

(B) Shaft
D,

(C) Flatness

(D) Hole and Shaft
3D D) T,

68. A dice is rolled once, then the probability of
getting an odd number is

20@ TWR) CUDITN w0k 2SBR,;
BT FoIBIeohd

(A) 2

(B) 1

b |

€3
(D) 6
69. The unit of conductance of conductor is
DoBBTBODS ToBIZ,T BTN ATeHTD
?
(A) Mho
3¢

(B) Henry
Be

(C) Farad
D0

(D) Ohm
&0 (Ohm)

70. Scarfed joints used to increase .
T9,0° BT 25adhoes* J Ted), B

12

VR3eeNDBIT

(A) Length
gy

(B) Width
e

(C) Thickness

oD
3]

(D) Angle
e

71. The unit used for specifying the thickness of
copper foil on a PCB is .

&R)ef)oi)@m WYADS BB INB da’%ddg(
QAR0T VB03ReNDT BRIV

(A) ounce per square foot
&S I0° ﬁ%eo‘ Q3
(B) micron
R 597°
(C) milli—inch
DO-Q0F

(D) nano meter
amagairoe Qee3o®

72. On solving linear equation 7x + 5y = 10 and
3x +y =2, the value of x and y are

B3 TDeSTE 7x + 5y = 10 DB 3x +y = 2

AYSY DBITN x DR y 1Y 23S
(A)x=2,y=0
B) 10 _ -8

SRR AT
C)x=0,y=-2
(D)x=0,y=2

73. The 2016 Olympic Games was held in which
city of Brazil ?
2016 O 00T BN Wokes TTe3dq

0oz INTTY IBTS) ?

(A) Brasilia
Apdalane)

(B) Buenos Aires
MASTER



méaim"' elord

(C) Santiago
masoazo:imﬁfae

(D) Rio De—-Janeiro
Oadee &-»Jedne

74. The medicine "quinine" is extracted from
plant.
3,3, BRBIIY

(A) Hibiscus
DoRD% (S BXF )

(B) Tulsi
AT

(C) Neem
ey

(D) Cinchona
Q0BReS

NBBOT Sricdnz9s

75. For finishing operation to produce a bevelled
surface for already drilled hole is

Smonde 80f sNdD3 Soxd @BePTeeEs
BpeIBoN Aol QAo sBTeR’
SBUINBT ?

(A) Counter boring
B20e30° 2dpedor?

(B) Spot facing
T9,63° Fedor?

(C) Reaming
decvor?

(D) Counter sinking
B0L30° QoBor¥

76. The popular dance form of "Kathakali"
originated in which State of India ?

anzsd : 8(586@‘ mesémcg erodcﬂ)c%dg 29033
o3 oaa‘,asdeg ?

(A) Karnataka
BRFEIB

(B) Kerala

13

BeCY

(C) Tamil Nadu
BARIR)

(D) Andhra Pradesh
€805 B33

77. The language spoken by the largest number of
people in the Indian sub—continent is

JeC3ead UTHOBTY @3503 Ted) dID
DOBVIRDI Wo:

(A) Bengali
Jormed

(B) Punjabi
A el~PIA)

(C) Hindi
%00

(D) Urdu
VTDE

78. Who among the following is a vocal exponent
of classical music ?

8 IYNIDCY aed  zadead oNed
MoaLBdD ?

(A) Bhimsen Joshi Deaa3es 2oed

(B) praveen Godkhindi @dees ree@dod

(C) Pt. Shivakumar Sharma
D0. dTBIIT BJoE

(D) Pt. Ravishankar
0. 3)B033

79. Which amplifier has highest efficiency and
distortion ?

03T, FVTINBZ | FIDEFTIFESZ DA
B9 3R BRODDS B0dE ;000

(A) Class A
o’
(B) Class ‘B
&MK)G N ?:)\

(C) Class C
MASTER



S &
(D) Class "AB"
CRIOJNENIAY

80. Which country is known as the "Gift of the
Nile" ?
8 BYNS abexd TBe3JRY, -
S0 ooth BBWITIT 2
(A) Sudan
DT
(B) Libya
a9

(C) Egypt
@8&3

Nest
(%}

8 3

(D) Ethiopia
QdodeedHod

81. The power factor (cos ¢ ) of A.C. circuit is
@alrefad) IWEF DoBVT BIT° FYBT* I

N3, ?
(A) Real power
cos ¢ =
Apparant power
(B) Apparant power
cos ¢ =
True power
©) Reactive power
cos ¢ =
Eeal power
(D) Reactive power

cos ¢ = Apparant power

82. Who is known as the "Flying Sikh of India™ ?
RADISTCIA NI -Tlo (I NFST- LTI e le T 1)

3000393 ?

(A) Manmohan Singh
RIB3ReBS dorf

(B) Khuswanth Singh
e Jo dorf

(C) Navjot Singh Siddhu
SSEReS dor' AT

(D) Milkha Singh

14

ci’benw Qort

83. The diameter of a cone is 14 cm and its slant
height is 10 cm, then the curved surface area
1§

més 14 cm DR &3 d3T 10 cm VWS
BoRAIT SFhed,, AReesE

(A) 440 cm?
(B) 220 cm?
(C) 220 mm >
(D) 220 m*

84. Co-ordinates of the mid—point of the line
joining the point (-3, 10) and (6, — 8) is
(-3, 10) DR (6, -8) VoMY JedD1I

Be00033 d)c%?i)oci)cbaﬁ ABEETI0BNR)
A) [
® (2,)

27

B) [-

Lad

—1

3
/

)
J

Per

(®) . 1)

1)

J

85. What is the formula to find output load of an
UPS ?

AT S Ve Y deed® J Bod
HBT AR WIJD) ?

(A) Volt x Current
d/awz x BC0E3*

[ AR

D) [

(B) Current x Load resistance
300e3° x eper BAJ I

(C) Load resistance x Voltage
et BT, x Jpedd e

(D) Volt ampere x Power factor
e 0BT x BIOF wYB T
86. Name the present Vice-President of India.
2903T NS mdm%déo&dd@( IO,

(A) Hamid Ansari
MASTER
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(B) Zakir Hussain
2393e0° Ie’

(C) Najma Heptullah
e, B

(D) Krishan Kant
3)Q 5903

87. Which of the following is the largest Public
Sector Undertaking in India ?

0BT ToTERIB ST 3TWRTG LD
il

(A) Roadways
Brerdses®

(B) ONGC

. o ..
(C) Railways

B ;ed,ec°
(D) Airways

QO ek

88. The function of a diode can be compared with
a

30000 S ToabESIY B BYBoB abed
SAIN o0, BeeDTVTTINT ?
(A) switch
Qe
(B) fuse
B0
(C) inductor
QOBB O

(D) relay
Oeed

89. Factors of x> +7x+12are
P+ 7+ 12960 OBSIFRAD

(A) (x=3), (x—4)
(B) (x+3), (x +4)
(C) (x+3), (x-4)

15

(D) (x—3), (x +4)
90. A chopper is a circuit that converts
€70B0° IBYIDoBVD) DS BOBIFIab

SoodE

(A) AC to AC
DA OB D

(B) DC to DC
B Mod B

(C) DC to AC
B WoB ad

(D) AC to DC
O oT B

91. Smoothing plane used for giving

finishing.
Qe 30r* TeF I,
B eVB0deeNDSIT
(A) Rough

203N
(B) Fine

B3N

eed & N

(C) Very smooth
ALARELDYg

(D) Very Rough

DI 233N

92. FM signals are generally propagate by .

ENpiarlelxIaral QFFD0 Nipioy )

BJTerte QS STonnY IF

(A) ground waves
23 eI 3Tonnw

(B) sky waves
3593 BVONNR

(C) direct waves
Jed 830NN

(D) ground reflected waves
RA0TB BE3VIMe 0B SCoNRR

93. In A.C. pure resistive circuit, the power factor

MASTER



IS
zi)tg d@edsﬁ?aﬂg( DB, BEODDI A
safaéme S [30° mﬁ O QNI ?
(A) Unity
[OWWINIR
(B) Lagging
masﬁorﬁ‘
(C) Leading
deBor’

(D) Zero
S

94. The words "Satyameva Jayate"” which is
inscribed below the base of the National
Emblem of India are taken from

S, 0ok 03B IYT w3IDDS
I3 el wodbI abI s Bwewdod
SricdeyoeNd ?

(A) Mahabharatha
TYT3

(B) Manduka Upanishad
DOTAT PVBIRS

(C) Taittarya Upanishad
3;30ead vBdRS

(D) Ramayana
erTAVEION

95. Name the first Indian ever to win the Nobel
Prize.

INTOICASEAT S PN ddg( NeABT /B
239083e0d

(A) Sir C.V. Raman
RTE. . Q. T

(B) Mother Teresa
T 33e59

(C) Amartya Sen
IE e

(D) Rabindranath Tagore

16

3eor)Nes e3riees®

96. Which is the surface sources of water ?
eI VDT ee 4 SNDIT

(A) River
S0

(B) Sea
3G,

(C) Well
YAPIN)

(D) Infiltration well
VREDI 239)

97. The filament of Electric bulb is made by
Alatkoy DeTTODHI B ledlPlniptoplen

3030DRY, Ao SWINT SBHTIT ?
(A) Lead

e

(B) Tin
/D

(C) Copper
o

(D) Tungsten
e301° ﬁda‘

98. IfU={1,2,3,4,5,6,7,8, 9},
A={1,234}and B={2,4,6, 8}

Then (ANB)" is
U={1,23,45,6,7,8,9}

A={1 2,3, 4}533)_9 B={2 4,68}
33 (A N B) =

(A) {2, 4}

B){1,3,5,6,7,8,9}

(€) {5, 7,9}
(D) {1 2,3,4,6,8}

99. Simple interest on ¥ 20,000 for 3 years is X
4,800, then the rate of interest per annum is

000 ARES, WD BF9T T 20,000 BTV 3
SRENPO T 4800 TTY WG NVITT Tode3
28ab 33

MASTER



(A) 12%
(B) 4%
(C) 24%
(D) 8%
100. One kilo—ohms can be expressed as
word 3dedpe — %o (Ohms) &) &erie

230DV
(A) 1x 100 Q
(B) 1x 107° Q
(C) 1/1000 O
(D) 10,000 O

17 MASTER
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08
1.

I por3, s 30eg 2016

B~903 dRab Jabd
18-09-2016 &;3,e3T° (Maintainers) 23.10.00 807 . 12.30 B I3}
RO’ eosnw e 3 VBT AT 10T I
100 150 Q@Rw 120 QDR
A, BeoB) Foss 0D, wTAd BT B3 B ISTNRR
IBEF Bt B Joss;

23 DFriE F0TES Ross,ab) £.00.80°. CUBCBIZHO WO ©TE, BoWORIT ByBrivay BoFPBFEN DRSO
T3FBAERY,.

2. 0 RENW Beor) Foadab ), £.90.80°. HUBTBIBALY WD VTF, FoWORIT BBy Jopearaen odQedomd

3
4
5.
6
7

oGBBIZNRY,.

8 F BBohRY, i 2 Fe eI 0B33 23. 10.15 88 3033 SpBUADHIHD.

38 B3Bob ZhB0ad 0y, &.00.680F. LBTBI B wBabede.

38 B3Bod SRER® Bt J .00.880°. HUZTBSB0DY T ©TF, FowORIT B)BHRY SoZpeareyoN Bowsed.
£.90.630°. eUBTBZBah B¥INE ANDS onEY) Ko Syedefe.

8 DT OTBRe BEre0snd BRBA g BN, WEeEBa &.00.830°. GVZTBZ B0 ANOS 2B wiabede.

-
5]
-
5]

DorEIed

1.
2.

10.

£.90.650°. GUBTBIZohO BwBBTNHE 3 yor’ BB SeTo0wD) / TR BITTR) / B PTLToT.
Bwes e Jef 23. 10.30 3, srd3d. wdabhadne,
« 3FBIB0D OINBIDS deer ) Sriabesednd.
« 3ZBB0D 293 AT FF YR, Feerded Boh [FeIowD.
o 8.90.630°. VBTBSBADHO GLBOTED BYTODTRIITTD.
2} BRen Sway WeWINWD

BZ BB 20e), 100 BF AR, B3 FF e 4 2B 80d), HLBTD DI,
Swese e3¢ 0orT &3. 10.30 B F0BT FF BBab 20INBODS deer Brich & T, BIBaDY adredde ey SwBBaNese
QDI 0B 00T WP BOWD BeeNGL) e areme DE3onw Ve THeeNZD oowdd& 23BTBIBR0D), 81 Bed sNF3
3 B3BaY, WBTMIBRRIED 0BT &.90.650°. GVBTSEBoDHE LVBOTED ©TODDBTD.
S008I 120 ADIRYD
o 33 FT, 00, 93 O30T ..
o B3 FT,0d 391t BRI T Toew, & 303, 0h GVBTRFY FOWE LVBTSY, Bod), 8.
» 3B BSBDOS BF 1T ODrbesEeNdhes $O GvBTBRY, £.90.680°. YUBTBBaDY ecse ZehTosdobh SO eBDHE
B020RAT BB, Ve ETe 3 Todhad 239 Hod0EF B AOT FOBPEIE BT

£.90.650°. GUBVBBDODS BBV Sowd B0 Iges : (WO ®) ‘

81 £.90.650°. GUZCBBDR), T, 7 TS T3, FO° BY &g, TN Ty DI, I DOWIT. B30T €.20.650".
VBTTZBoHY eLZDDen 2ed BB S,

BB BB HoOI YLNYY Bt Da w08 wona:Y S5 U, suEadeeNd. £.00.680°. LLBTBIBADIY VB,
guBaseeNTeIed.

BeJab S ©ordd . 12.30 83 3030 HVBBDIYTR, AQD. A, AT, B2 TY MDY, ANOS N3 Ho3.

£.920.80°. HUBTBI B, 2RTB 2390807t abreg3obd eldD.

Zp80 308 ey Nt HVobRY B33 (Br B)3) Y ITBY VeV BP0RD YR abreaob (Candidate’s
Copy) exdBerient Jabo S5PeEraRze,N I3t deode ey Bemds0.

VZBBZBodh FBORY, .0 IR Fow) DTFSweN V&,

BIB 8 3od BF YO eLBODS RN 33 BB BB BTN &F,1% i} HFBAL JoTeBIFO RoNea® e 3od
BB BB, FeedIBTD.

o

2,
2

19 MASTER



